
MTSL_H270_15221317889_B

MTSL_H270_15221317889_B N



ELEMENTNR

1

1

2

3

2

5

4

1

6

1

MTSL_H270_15221317889_B N



 2
9

9
 

 9
8

 

1

 

 

7 !!!

ELEMENTNR

8

11

2

7

1

19

1

1

4

10

12

MTSL_H270_15221317889_B N



 
2

,1
 

 
2

,1
 

MTSL_H270_15221317889_B N

Nr Element Ʃ

10 DIN 9021 6x18 318

15 ISO 7380 M6x30 144

16 - K1_d21_B 174

17 - Z1_d21_B 174

18 DIN 985 M6 (OC) 150

21 DIN 125 8x16 6

43 DIN 1587 M8 3

45 ISO 7380 M8x30 3

58 - LOCTITE 1

119 DIN 933 M6x40 (OC) 6

472 DIN 933 M6x25 (OC) 18



7

10

1

12

9
8

3

2

8

1

2

5

11

MTSL_H270_15221317889_B N



buglo.pl/mts-manual

MANUAL

1
INST_MTS_8

INST_MTS_3

INST_MTS_4

+

INST_MTS_2

INST_MTS_5

MTSL_H270_15221317889_B N

12 23012

97 8

216

12


